EAGRAROBREERT — 2 N— ABISH —F

2013545290 (A) 2mEKR6H

m%éiiHi’iC 1—#8 Y S5R—H% (xwlw | lmEmml - |5 @) eom 8
[AE4£] 1% :160,000 8 ~ 2#%:32,000 ™  337%&:16,000 M 43 :12,000 M . 57 :4,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. . I ARFR 144, ~4-4- . — HEE= (BE)
1171 7 FTOZANY R 4 4 e 1(4_4)6 5-4-4-3 | 40.1 5 ;1_220) =
L7728 74 97748 B MNFr 2 [QLX<0F ¢
3 w e AFi8E 144, -1-1- . — FEER (KR)
5 AESCPELY # o7 = 1(424)9 1-1-1-1 | 41.1 8 (ﬁﬁ) TR
R:T7TaT45—FT1>7 B:I—ILFrN—Fh Bl 18
. SiEm s . 65— — REEFD (KiR)
3l7lg | "YUy o4 Bk 1.&5).5 6-6-5-6 | 40.3 9 <4+314) :I:#E§M7
R:A-JXA A4 B:Yv=>T7UIL fidbabae]
L, [k E : —7-7- — HERSH (BH)
4 0| TS51F 1787 i 5 R 1(.;34.)7 7-7-7-5 | 40.4 7 ::333; ?J\ME%
L:ZFAT—IK B:E81427L0T7—X i e ]
N # o6 | WOB— 1:45.8 3-3-3-4 |41.8| — 3 497 | FETF KR)
508|g| 7> /ISFK)—LA 56.0 1/2) 1) | @ A
RARTY4LRE— BIFU—LZX k=1 — FRMUS
= 5 | WABGE 1:45.9 8-9-7-7 |40.5| — 2 466 | EREE= (BER)
6 3| T7=YT 1= 56.0 (1/2) o) |KfEBEFHEZE
R:4AE0H—T v BIRIHF HET7— L
. N ERRE : -8-9— — WEE— (KR)
7155 | NIy KF2TY G - 1('14/%0 SE 405 1 5_4; i‘%;ﬂ%% ’
L:T7LrFFE2T B4 X270 T 1y #E BE
- TmE : T _ B (R
glilq|7va—x7vk i 5 finil 1.(456).8 10-10-10-9 | 41.0 6 (4_4;6) A 09
L:7LrFFE2T71 BRIy Y- () #8a—-FL—>a>@qE77
s FER 147, —-2-1- . — #HEX (KiR)
o 6| 7EUTFI— B4 it 1 (447)5 2-2-1-2 | 43.6 4 (4_711) e
R:AAM—Y—X B:U—-LIFI— I AERS
s = st 6 | HEEME— 1:47.9 4-5-6-10 |42.8| — 10 | 440 |/\EEETE (EER)
10810/ FxV—77>7— 8.0 @ 1/2) Chy |FEE=
R:TFNTITY BAHRT J—¥Tp—L
® 1 —F—@EBIERL
1T=7r= 4,6,9,10,7,8,2,3,5,1
2a=5F= 4,6,9,7,10,8,2,5,3,1
Ja=9= (4,6),9,7,8,10,(2,3) ,5,1
43—+ — 4,6,7,9,2,8,3,5,1,10
[ N5
B OB 7 2,210 | [ 74 K 4-7 2,790 | | # = 4-7 4,980 | | 3ER 4-7-8 183,560
B B 7 550 7-8 10,020 B = 4-7 18,290 3B 7-4-8 792,340
4 870M 4-8 10,020 B H 7-4 43,550
8 3,250

ARICOVWTRDTEEERROODE. TR LI,




